fl@)=eto

g(z) =z + 212
[t
(Use symbolic notation and fractions where needed.)

d_fi f(g(z)) = 22 help (fractions)



B3-8-3.9#3

(2 points)
Rogawski_Calculus_Early_Transcendentals_Second_Edition_Offering/3_Differentiation/3.8_Deriva

Let g(x) be the inverse of f(z) = x* + 2z + 6. Calculate g(9) [ without finding a formula for g() ]
and then calculate g'(9).

g(9) = 1

9'(9)= 15

%’ 'G()(]-a ZB-\-Z'K"‘C LJ

7tx) ftx). Fandk 43)+.









B3.10#9

(1 point)
Rogawski_Calculus_Early_Transcendentals_Second_Edition_(

Find an equation of the tangent line at the given point.
ey = 5—; (2,10).

y— 10 =









B3.11 #1

At what rate is water pouring into a rectangular bathtub with base

66 ft2 if the water level rises at a rate of 1.4 ft/min.

(Give your answer as an exact number.)

Rate is = sas ft3/min help (numbers)

V= 6¢h.
AV ¢e o
T o

= €6 L{t- l-Lt f_f-_

w 1A

= 66\ “"/mm.



B3.11 #6

A road perpendicular to a highway leads to a farmhouse located 3 mile away. (See Figure
9, page 204 of the text.) An automobile traveling on the highway passes through this
intersection at a speed of 50mph.

How fast is the distance between the automobile and the farmhouse increasing when the
automobile is 9 miles past the intersection of the highway and the road?

The distance between the automobile and the farmhouse is increasing at a rate of

=2z miles per hour.







B3.11 #2

The radius of a circular oil slick expands at a rate of 7 m/min.

(a) How fast is the area of the oil slick increasing when the radius is 20 m?

dd

dt

= m?/min

(b) If the radius is 0 at time £ = 0, how fast is the area increasing after 2 mins?

A _
dt

= m?/min

- lﬂr ‘ 7M/MM.

=20 W™
)\‘ ' - 2-%0'“‘ M"/MW\.

[ S




(b) Aften 2 mmante
ol — w NS

d A

“

oAt .
- 7-8'“.‘-'} M/M”,‘.

= \ﬁé (18 W“I/Mth.

- AWC - M/Wnb




B3.11 #9

A searchlight rotates at a rate of 3 revolutions per minute. The beam
hits a wall located 13 miles away and produces a dot of light that

moves horizontally along the wall. How fast (in miles per hour) is this
dot moving when the angle @ between the beam and the line through

the searchlight perpendicular to the wall is % ? Note that

do/dt = 3(2r) = 6. T‘”‘/m, "

Speed of dot = 528 mph.

-0 Fw%t
M: -T
W hen 6= 2.

IS m
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